SECOND YEAR HIGHER SECONDARY EXAMINATION(SAMPLE)

BIOLOGY
Time : 1 hr (Botany) Score : 30

A. Answer any 3 questions from 1 to 5. Each carries 1 score.

1. Remnants of nucellus present in mature seed is.......cccccevvervrrenene
al08 0@ A EM)B 108 @RNUGUAHUTHNIM MMVOINUTOM..........ceoceeeee ag)(Mm alO@m.

2. Name the thermostable enzyme used in PCR
all.n).@R) N3 9alc@IUTHNMM MIaIMN1P@M@ISS PIMIIUNTWHS Cale)D)?

3. Expand GEAC.
GEAC @)6)S al}@eMN@)alo nf)PIM)d>

4. Observe the relationship of first pair and fill in the blanks
alGenimwo amMay1rI0H80 1 OIS Gald® Mo al)@1alH0)d:.

Fungus and algae : Mutualism Epiphyte and mango tree: ...................

5. Interconnected food chains are called.........ooovvvvveeeeennnnn..
Al NIMUVEQ|SI B 1SHNIM CHHHIUDI06ULIDAIS .......ceoeeaeeee. af)m alO@)Mm].

B. Answer any 9 questions from 6 to 16. Each carries 2 score.

6. Mention any four outbreeding devices present in angiosperms.

@RMPBE1CWIMIOAIBD}HE1M3 HIMEASIM aBe®H: 12130 MILT eniaN1@(al2mnm
D9BWN6BRUE M) allaflen)H,.

7. Fruit formation in mango and Banana are different. Explain the difference in fruit formation

in these plants.

QML 12130 UIPLOD 121)0 n0LIEBRUB 96NMEINUIM® (UIMIMRE IO 1@ ]eloem. I 1©3
anel)alle:6m @10 1608 U1 H6) 6.



8. The given diagram shows typical agarose gel electrophoresis.
@R(NICNIM) HRDB n§)6)LIE:G(SICNINNMUITMIINEa N afl(@o @6 M@3H 11 1H8630M)

a) Which of the bands have the largest and smallest DNA fragments?

QIeRM)o §alN}MIAIW DNA (n096UMMNH:U8 @SR 1@ 1@168630M 6rIdB)H-U3
©® 112016

b) Point out a method to visualize the separated DNA fragments after electrophoresis.
GUB® 1@ 16100 DNA £5,06MIMBS MIBUN0 )P Hs.

9. The picture shows cloning vector PBR322

EcoR I—Cla 1l Hind III

Pvull

a) Give the importance of Ori.
Ori @S (AJOWIM 0 nf) LI B>

b) Identify the two marker genes.
aflmom el eens 2938H0@ 2 1mNYH:08 1@ 124016,

10. In human beings certain diseases are caused due to genetic disorders.
DMNaHU IO @8 2N B HONUBLIL6BRUB ailel @RMU)6UEBRUBHE HHIPEMMAIBINM)

a) Name the method that allows the correction of gene defects that has been diagnosed in
a child or embryo.

630) )5 1WIGLID (B)eM@DDT 1GLII H,96MIM 2M 1M H: OOIUHL1Y68BUE al@1aNE18600MSS
DI@ U0 af)PID)H>

b) How this method has been used for treating ADA deficiency?
ADA @Ral®3904@ 9D M@0 (UY] af)6BROM al@1aN®@1H600?



11. Insulin getting assembled in a mature form was a major challenge in commercial insulin
production by rDNA technology.
How did Eli lilly company found a solution to this problem?

rDNA (MVIGH: @ 16> A1BIWINS MANIREDBDINS (AlUBDETIMNHHUANI® O3 Llnd
D6ENBIHN) B af)M enueNg] ageil eflefl &:miml ageeBammoae al®laN®12]m)?

12. Parasites evolves special adaptations to live on hosts. Write any four adaptations.

@R 1eIN® 21nN6:81138 U1 H0908 al96 2 1N1H08 MaNIW LM aGe ;12130 MLl
@RMN)BH)LIMEBRUB nf) LI H>.

13. Observe the given graph
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a) Identify the population growth curve
AR} Mo NUSB2J0 AIMIH®WIEM OV (Nan1®3 MV)allaflal@1eamm).

b) What do r and K represent.
MY (N2a01@3 r, K agiim 1l agomlem qulallafleanyom.

14. Number of individuals in a grassland ecosystem are given below.
Grasshopper : 1500

Grass : 5842000
Wolf 1 28
Birds : 250

a) Draw a pyramid of number showing various trophic levels.

@M1@186030M NNNIEEBBRUE 9ale@IN 2] 30 MoalidallEa Tl MBaR]H6)b:.
b) Explain trophic level.

G(S9an1d> @Rlo af)mIOeMM] N1UE 1@ 186 0.



15. Observe the equation given below
NPP=GPP-R

a) What does GPP and NPP stands for?
GPP, NPP ag)mM1U ag)0mlexm qu)allafleaymm)?

b) Define secondary productivity.
el 9a196MBHUA @ OUEAIHNH:.

16. Mention different steps of decomposition.
21@smmom 1men Alaiw caISeeRU3 ag)PYmIH

C. Answer any 3 questions from 17 to 20. Each carries 3 score.

17. Observe the given diagram

“ X O g

a) Name the parts P,QR,S,T
2 I(OMO3 @RSWISESIO W ]1E1860)0M BINEERUE M 1@ 12016

b) Mention the function of the part labelled as T
2N OO @3 T ag)0m GE6U6ASIO™ 1@ 1@16630M BINO™ M0 WBANEBRU3 af)e) MDLI00?

18. Density of a population in a given habitat during a given period fluctuate due to
changes in four basic processes. List out them and how do these processes affect

the population density?
6(0) @RYNUIMINUINIMOTH LI 2MNOVIMB@O® 6nIOU1HNM MILT 0aISH:6BRU3 a@emealdo?

@R 2MMVIMBMO® f)6BBREM rUIWBNMM] ag)M) ANUDBAIHN)H>.



19. Restriction endonuclease recognize a specific sequence in the DNA. Name the

sequence and write its peculiarity.

O0MI(S1HHUMS a)1B616MVMA)HU3 DNA @ael aflel (aIGMIH: (B0 LRSS M
S1cWINASUIBHOS M 10120160mI6N (AlUBDD1L00M®).

MY MY BHE1CWINASMUYBHBIAS (HADDM M alNO@IMM Cale)PNMIEM? @GRS
(AIG@IB- M B U3 ag)O(TMEI00?

20. Bt cotton is a genetically modified cotton plant.
2M O $> UI@TWIMo NUEIOM Q@ CHIS6N3 Malsl@aem enil. S1 8H956n3

a) What does Bt stands for?
Bt ag)m 16 XM V) ailaflen)om)
b) Name any two kinds of cry genes.
a@BeOmes1el)o e Cry 2 1M)H:SI0S Cale)RP)M)d:
c) Bt toxin never kills the bacterium. Give reason.
Bt ¢S0&103 190 101@e® Mudla{lenymIal. &IeMo ag)(v) ?
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